Liceo Classico di Trebisacce
Classe 1VB

Compiti per le vacanze di Natale - 2010
Eserciz estrapolati da un libro di | media

225:25436: 4= 15:54+ 65 =7 [38]
524567 —3x 4 =12 X 31~ 10549 [20]
58—80:2—7—7x1+35-75:25—6x2+13 [37]
20—15:3+4+2—-32:2+4x3 [13]
Tx3+9—56:8—54:9—34:2 [0]
3,25 x 100+ 6 — 1.450: 10 + 45 [231]
6 —275:100 + 4,25 +2.735: 100 [34.85]
1,05x4—8:2+6x24+45x35-3,75:1,5+2,5+0,125:0,025 + 1 [36.35]
18,6 Xx3—-9,1-42x4+55x5-49,6:8+424,4x2 [100]
10—-16:8+3x(5+8—-4)—(T—5+12):7—-5 [28]
10+56:8—(15%2+2%5):5 [9]
20 x 5—(240:80 +39:3 -8 x 2) x 24 15 x 2 [130]
(24x3+7x4—5%x14):15+15:(5x204+7—7x9—160:4—1)—6 [1]
2x3xT—5x4x2+15:5 x14—63—(4x3+8):5 [3]
9:2+41,25%x6) x 10— (1,2 x 4+ 10,5:2) x 3 [89.85]
(10:2—7,5:2) x 2 +(12:4—2,5:2) x 3 [7.75]
20—4:24+3%x(15+9—5—(9—5+17):7—62 [10]
30+56:8—(15%2+2x5):5—(3x6—2x0):2—20 [0]
13x3—(24:8+39:3—-2x7)x2—5x6 [5]
(Tx8+12%x3=7x10):11+15:(50x 24+ 7—Tx9—80:2—1)—5 [2]
(6x4—4x3x2+60:10)x4—6—4x6:6 [14]
(10:2—6,5:2) x 2 +(10:4—2,5:2) x 4 [8,5]
8+2x7—22):13+(5x4+36:9):24 [1]
84:(20:5+5x4+18)+(10—6—4+2x 15)x 3:15 (8]

(2,4:2-04%2):02+12+(0,5%x5+0,1 x2)x03+1—1,01 [4]



[5x64+5x2+7)]:3—(19—11)x (30 —27) [1]

[36+54:9+124:62—22 x 2+ (129 + 71): 100] x 5 [10]
[(1x3+3—48:4)—(7Tx2—-39:34+5)x4]:7 [0]
[34—10)x 15—8x5+35x4]:[25%x5—3 x(6x4+21):3—30x 2] [23]
T2—[10+(28:4+3)x3]:5x3+8:(11 x4—-2x20)—20 [30]
[18x2+(45%x2—-4):2+10x(6—1,25x2)]:4 [10,275]
[(2,75x2—-2,5):6+(3,5—-0,25 x 4):0,5] x(5,5—3,5) [11]
[36 x9:(27:3+81:9)—6x(13—-35%x2x7:49)+4]:2+3 [5]
[R84+9x4):164+10x2]:12+(273:7—189:21):6 [7]
[28x24+(45%x2-12:2):2+5%x(10—-1,25x4)]:4 [8,025]
250 —-[74+(49:7+3)x3+3]:5x3+80:(7Tx6—-2)+2 [230]
[(Q0x2+3—-180:15)—(7%x2—169:13+5)x4]:7 [1]
[(52—-24)x8—-8x5+4+T0x2]:[28x5—(12x6+20x3):3—-15x4] [9]
[(3,75%x2—-1,5):6+(1,5—0,25x4):0,5] x(6,5—1,5) [10]
261 — {300 —[100 —(5 x 8 +2x 3)+ 2]+ 10} —7 [0]
{[(60:5+5%x4—54:3)x2—(7x4—8:2)]:2}:2 [1]
21 +[TxS5—2+5) x4]x3x(Tx2—13)}:(5+16:8) [6]
18 x 13—[(42:7+1)x 13—68:4]:(5x6+7)}:(14 x4—9 x 3) [8]
{4411 +2x[14+3x(7Tx5—-5%x6):(12—3%3)]:3}:[14 -3 x (6 x4—60:3)] [4]

{8x2x60+[(5x49—8x8+3):4+129x5—1]:(30 x4+ 18)—40 x 11}:(2 x50:4) [21]

(33%x3):3x {25x4—[25x4—(8x5—10x2)]:(7x3—17}:(5x9+7 x5)—33 [0]
{8 %20+ [(61 x 136 — 274 x 4): (40 x 2) + 86 x 15]:(75 x 2—2 x 6) —
—(12x10—-8x15:9}:3x5+2) [10]
{[3xB5+21x4—15)+5%x13—17] x 17+9} —[Tx2+(7 x3+4) x2—54]:10— 1.742
(0]
48 +[6+(12:3+8:2):8—5]x {6+ [80:10+ (3 x3—2)]:5} —(64—8:2) [6]

{16:2—(8x5—2x5):[5x5—4x(3x9—-11x2)]} x{[3x25—-(6x4—-13)x5]:5} [8]

49— {[3x3,05+1,4x(6+1,5x10):0,5—-4]:0,5—80 + 0,7} [0,4]



53— Tx324+17x2—3x2*—-23422x 15 [100]

Saeqd L IRD2_IPINGT L 6365 053 [29]
P T2 =33 =22 3P %5232 6L 5255 [7]
7x23—25-210:27_230:227 4 32 33321+ 6°:6" [248]
5%:52 +1+ 1,52 4+45%x254+26x5x22-32x5-2x5 [16,5]
Ox52+52xT7—3x42-23x52—62x3+2%:2? [48]
0,2> + 10 x 0,92 + 10 x 0,82 — 10 x 0,7% + 0,62 [10]
1,53 x 22 x 52 4+ 4,5 x 102 — 2 % 3® x 13 + 10%: 102 [86,5]
27:264+92-410:4° _(47—-2x3%)—2x3x5 [20]
3x52-2x(TP—32x52—(22x7-5%:5)x13+2x3 [10]
(22 4+2%:2x53+2x(2x342-3):3>-7—-(2x3-13)x12+5%:5° [50]

(5°—2*x5)x(2x3°—2x5)+(7*—5x%x2%:3+(3*—-2*x5—-1)x (3°—5x 2) x 2? [23]

(3'%:3M1 —2%x 5):1 (22 x 52 — 11 x 3} +2x 32: (2> x T+ 5-3%) +(31 - 3%)* x 2 [36]
(2°P:(5 x4 —2%+[7*:(5* - 3% x 2) + 137:13%]:22 + 1'° [10]
[(6> —4%):2% +(2° — 5 x 2%):2%]:(7 x 2° — 2° x 6) [1]

{62 +2+(52-2x11)x(32—-2*)—[(22+3°-2)x2—2x5]:2+3} x0,5 [25]



(¥ x2-(2-Px 2 +2¥]x (3 x2-2H = (524 5-6x4)x 2*} x

(8,25 — 3.5 x 2+ 8.,5) [39]
M8 % 242232 4 3% 2 (P2 5 % 3] (67 = 31) = (T x 32— 5 % 12)};

5T (28 =3 % 10) = 7]:(2% - 5)} [3]
[22 5 (2 7T 2x 334 2% (527 = 3) (2" - 3D 15 (2 = 21 = 11 % 15) [
[+ 13x2 2" % 3):5 42" —67:6°]: [3x 11— (77— 25— 2% (15— 2% [2]

(22w S 3 e 24 [(2* =T34 2] [(642Y: (5% =D+ 1]) = (57:5% 252 — 2% T) [84]

[0,5% 2 (20 % 37 % 7) (0,27 = 10 4 2% = 0,48) = 2472 4 [(1,5% — 1,22 — 0,9%) =

« 10 % (1,67 — 1,57 + 1 — 0,69) x 3] [3.025]
(240067 =55 )+ [(T % 3435 =27 110 (7P = 22w 1) - 2} [1]
(27 =5)P - % 5-Tx5*: (3 =22 +[2*:(2* =3 x 24 17%}:10? [9]
24 (2% 42 4+ 37 = 3): (6% = 5= 6)— 3] 107, (21— 3) = 24297 [1.600]
(2x[2x3 —2x(3=x22-2x57 +(6-2Y=x2]-3=x2%}:27 | \“[3]
[3% (57 x 3452V <2952 = 2 1)) :[(3* = 2% —2%:2%) = 77 % 22 4 27 [4]
([57 % 2% (22 x 7T+ 5 +3':31%]: 22 — (3" 37)) =

2 [28 T4 30 (2% 3-57):15-2]:4"}° [2]
(2% [ % 2T +3x17-2]:[5x24+22 x(5x22 = 2x 5]+ 1}* [125]
(57 =3 x 2N % (2° -7 x 3 4 (5= 28 = 303720 52 - 2 < 11 )7 [25]
(32228 (3% (52N = 3% (5 x 3T —3x (17— 3x2%):5]}12:(5% - 3% [324]
[5%22 +(22 = 174 2%) - 5x(3* - 2x3):(6" =T x5)" + 3% T+ (5" +7):16]° [10.000]
37 =757 %324 237 1)+ 3% ] 2 0,5 +(0.9° — 0.8 40,77 —0,67) = 10}7 [64]
[5xd4® — (6" — 2% —[(3* = 2%) % 10— 5]} — [(2% = 54 2%):(3* — 5%] [1]
2%+ 592 =3x8 52" - N+3P=(2* x 7T+ 5": 5% = 6%):29}7:[52 x (2* - 21:-:3)][4]
[[5% % (2" 2%) = 5 (2729 (5759 {[(3* % 32 = 20 x T x 13)* + 3 + 27]: 2} [1]
(322 (5% 223N 4+2x(3x2'—3)—3]:2" +2} %243 [23]
3 2425295 (10% 10 + [(5F = 22 4 11 % 2):(37:3%) 4+ 2 x 5]} [72]

20 %3428 % 52 -7 42915 - 312 — D+ 2% 10° —[2% 10*] = 2% 7} 142 (]



